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Time: 3 Hrs
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Question No 1 is compulsory

Answer any three questions from remaining
Assume suitable data if required

Draw sketches to justify your answer
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(a) Derive an equation for doubly conjugate point,

(b)  Calculate the doubly conjugate puint ﬁi}‘“ﬂm following data
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Max: Marl:s 30

M= 1000 Kg E
Ms=727 Kg it %
Wheel base= 2.286 m. K

Front/rear distribution= 40/60 ,
K front=21.7KN/m . = - °

Kz rear= 25 KN/m s
2. (a) Denve an expresﬁmn ’er s@ady;tate n F Iesp

e *tq*steemlgmput. 10

y “ : '_ W:tth equaimng suspension system. 10

following.
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n whnbl dnve with suitable vector diagram. 10



